
mm (in.)

78
(3.07)

39
(1.53)

Ø90
(Ø3.54)

4 x Ø12
(4 x Ø0.47)

78
(3.07)

39
(1.53) 143

(1.53)

IP40

IP54

3

2
1

1 Nm
8.8 lb-in.

mm (in.)

M4 x 60 M4 x 70
x 2 x 2

1 Nm
8.8 lb-in.

= =

25
(0.98)

12,5
(0.49)

111
(4.37)

3
(0.12)

52,5
(2.07)

Ø3,65 or M4
(Ø0.14 or M4)

X

Philips n°1
or
slotted screwdriver

4
M4x10

2
M4x60

2
M4x70

4818758010-02

Direct rotary handle
commande rotative directe
Manija rotativa directa
Manopla rotativa direta

The manufacturer assumes
no responsibility for
damage resulting from the
non-application or
incorrect application of the
instructions provided
herein.
Le non respect des
indications de la présente
notice ne saurait engager la
responsabilité du
constructeur.
El fabricante no se
responsabiliza de los daños
originados como resultado
de la falta de aplicación o
aplicación incorrecta de las
presentes instrucciones.
O fabricante declinará toda e
qualquer responsabilidade
pelo resultado do não
cumprimento das indicações
constantes do presente
manual de instruções

EZAROTDS

WARNING
Hazardous voltage can shock, burn
or cause death. Disconnect power

from source before installing,
modifying or servicing.

OFF

1 Nm
8.8 lb-in.



3 maxi
4

ON Tripped

OK

2

1

reset

3
OK

OFF

OK

2

ON

1

OFF

11

ON

2

OFF ON

ON option

OFF

2

3 maxi

1

ON + RELEASETrippedON

OFF
1

2

3


